1. You have been ngcn this question paper anda separate answer sheet. The question paper contains 50 questions.
2. Make sure that you! have written on the-answer sheet.

. (i) Your name (u) Name of your school
1.  Whichofthe followmg numbers is seventy 8. Whatis
 twothousand one hundredand thirty four 8x3x7= :
A. 72201 - B. 72134 A. 148 - B. 168
C. 720134, ' D. 702134 C.21] D. 24
2. Whatis the tofal value of 3 in 78370 - 9. Workout |
A. thousands - v B. three hundred '_,44_472‘
C.hundreds D. tens .ﬁl..z.lg_ _ -
3. 'Whlch of the followmg numbers is d1v151ble it
‘byZandS . A22294
A 33 ! " B.25 B. 13294
.C.60 . | D 12 C. 13194
b ‘;‘Thete are 3 1 13 pupxls in Nyamlra county . D. 75730 3
: 10. Whatis the tune shown by the clock face
and 6948 pupils in Kcncho county primary below | S
~ schools. How many pupxls are there in the R t
. two counties ' 1"
A.3825 » B.‘7§100‘61 ) :
C. 3835  D. 11961 ‘*
5.  Workout .
Ry 1035-438=
AT BSOT _
- C.494 . D.597 A.2:55 B. 11:03
6.  Three litres.of petrol cost sh.30. What is C.11:15 D. 2:50
the cost of one litre of petrol e ‘11.  Write 35/“,0'413 a dec1mal
AL Sh400 ++ - BsSh.10 A.35.0 B.3.5
. CsSh40 . D.Sh:20 C. 0.035 D.0.35
7.  Whatis - o 12. Multiply
3_/9+2/9;}'4/9: o 4_x2,/9=»
A. I‘/7 s B. ,0'/\)_ , A 2/Q ‘B. 8/9
C.1 - D.¥ C. %, . D.9Y,
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13.

14.

15.

Adactor treats 44 patients every day. How'

mp?uedts w.111 he treat in- 4 days

& 4B patients _ -
B.48 patients L o
C.Ilpafients - | !
D. 176 patients e
" M =®a multiple of 4. What is the next
Wle of4 ~ - '
AN ' B.24
cl _ D. 22

mﬁaetion of the shape is shaded

Z

: Va ¥ .
. - | - ’
ug, | ~" B.Y,
cy, D%,

16. ﬂwmany ‘/ kgaretheremlOkg
A Y B.3
cy v D.20

17. Wkt
12948 |
A® " B.7

. Cm - D.9

18. Wedbout -
A B,
c3 .- Dy

19. Addcofrectly
GUmS + 290 + 2=

CAeRET
B.oR45
Cm4T
D.&#s37
R

25,

26.

Vork out

20. |
- Hours = minutes
17 20
-3 4
‘Al 14hours © 38 mmutes 3
B. 13 hours 38 minutes
C. 14 hours 22 mmutes ,
D. 14 hours 78 minutes E
21. Write an equivalent fraction of %/,
ALY, e B.Y,
c.Yv, DY,
22. Subtract .
A L,
A, B.0 -
C.%4, D.%,
23. Multii)ly L
7x5x IO= _
A.35 B. 3500
C. 350 D. 305
24..

How many trian les are m the ﬁgure below; o

A.5
C.4.

"'B.3
D.2

L

A train has 9 coachcr,each coach carnes 24

passengers Ha

train carry i m total -
OALLS

C. 216

‘many passengers will the

D 612

smallest to the: largest

Yty l/

2? 6’

Al l/2“/5 e

l/ l/ I/ l/

6, '5 "3, "2

]

B’/ Y M

- Arrange the followmg fractions from the -

2,6, '3, '8

D‘/ AT

2,73 5. °6
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.27, Jeremy scored 412 marks out 5f 500, How
many marks did he lose. '
A.912 marks B. 82 marks
C: 28 marks D. 88 marks
28. Seven chairs cost 245 shillings. What does
. one chair cost
A.Sh.15 . - B.Sh.53
NC. Sh.35 'D.Sh.23%
29. 0,3,6,9, 12 are all multiplées of
A.6 B.3
C.0 D.4
30. ‘Onesideof'a square is 25cm long. What is
' the perlmeter of the square in metres
A.lm B. 50m
C.25m D.'100m
31. 250
A260 7/ B.240
S €i2B00° T D250
- 32. 300—6=
- AL204 B. 194
- C.294 D. 306
. 33.-M - cm S
2 30
: \;..'2. T 10
A.4m - 20cm
'B.4  40cm
C.0m | 20cm
D.1m 20cm ‘
34. «What is the approxxmate height of your
classroom door 5 .
_ A 2km B lm.- &
. 35. Write 0.09 as a fraction
| A. 9/10000 B'\Q/IOOO
‘ C.% D.°7%

36.

Weeks

Days
-5 6.
-3 5
A.8 week‘s..é}'_-fdaj'is

B. 9 weeks4 days
C. 2 weeks'1 day
D. 8 weeks 11 days

.Y, /

37. Find the perimeter
15¢cm
10cm
A.150cm ~ 'B.15cm
C.25cm ©  D.50cm
38, Kiplimo had sh 14000. He spent shs 985.
How much was he left with- ‘ -
A.Sh13015 B. Sh14125
] . C.sh14229 =~ D.Sh14985
39. ‘Whatls _
4 |14 weeks 6 days '
A.3weeks 5 days
B. 4 weeks 5 days .
C. 4 weeks20 days -
: _ D.'3‘week32(f) days
40, Add. 7
S 123254 0
A.367 CLBIITT
| - C: 277 ok D376
41 Which' fractxon is blgger _ ,
A or'/, . - EERE L

A. they are the square
B.none
C.Y,
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42.

43.

44.

45.

46.

Work out'the perimeter -

School

A. 1300m/
B. 1250m<
C. 1100m”,
D. 1000m |

How manyiten shillings coins are there in a

fifty shllh;ig note .
.A.ten . - B. ﬁﬁy
“C.five D. 50

Fillings in the m1ssmg number

20,25.30, 40

A5
C.70

A30 B.8

C. 40 | ~ D.35

Fill in the blank w1th the correct factor
6x = 48 ‘

A.8 o B. 5

c.6 . D.4 |

How mémy small cubes make this stack

B. 80 |
D. 100

47. How many tins of water will fill up the drum

. . drum
- A A
o 120 litres
A.60 B. 100
C.3 D.6
48. Change 3 hours 25 minutes mto minutes
A.215 mmutes e

B. 205 minutes

C. 180 minutes

D. 325 minutes :

49. How many days are there in the month of
June, July and August

A.61days B 92 days

C.91 days D. 99days
50. Which one of the following shapes isa

square‘7 :

A . . B o

C D.
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